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Notice:

| ndividual students, nonprofit libraries, or schoolsare
permitted to make fair use of the papersand its
solutions. Republication, systematic copying, or
multiple reproduction of any part of thismaterial is
permitted only under license from the Chiuchang

M athematics Foundation.

Requestsfor such permission should be made by
e-mailing Mr. Wen-Hsien SUN ccmp@seed.net.tw
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SHORT ANSWER
1. 88 2. 2011 3. 75 4. 2 5. 52
6. 42 7. 2 8. 9 0. A 10. 20
1. 5 12. 400 13. Friday | 14. 7 15. 987
16. 13 17. 7 18. \%4 19. 45° 20. 99
21.1 3:8:13 |22 1:2 23. 2016 24. 2 25. d
ESSAY PROBLEMS
14 students in Room A, 13 students in Room B,
1. |10 studentsin Room C, 8 studentsin Room D, | 2. 18
5 students in Room E.
3. 158530 | 4. 3|4|7/9/3|6|4|8|3|5|7|4|6|9(2|5|8(2|7 5(1|9(|1/8|1
5. 25% 6. 150° 7. 0
1x26=26 2x13=26
8.101,3,4,5 7,and8 | 9. 6x71=426 3x82=246 | 10. 12:01
3x88=264 8x33=264
1 2 12. 9 13 29°




EXPLORATION PROBLEMS

First piece

Second piece

Cut the 1¥ rodinto 3, 3, 3 and 4.

Cut the 7" rod into 3, 5 and 5.

Cut the 2" rod into 3, 3, 3 and 4.

Cut the 8" rod into 4, 4, and 5.

Cut the 3 rod into 3, 3, 3 and 4.

Cut the 9" rod into 4, 4, and 5.

Cut the 4" rod into 3, 5 and 5.

Cut the 10" rod into 4, 4, and 5.

Cut the 5" rod into 3, 5 and 5.

Cut the 11" rod into 4, 4, and 5.

Cut the 6™ rod into 3, 5 and 5.

Cut the 12" rod into 4, 4, and 5.

F1 + | M1

U

M2 | + F2

M3 F3 F4

1+2+3—4+5+6+78+9=100
12+3—4+5+67+8+9=100
1+23—4+56+7+8+9=100
123—45—67+89=100
1+23—4+5+6+78—9=100
1+2+34—5+67—8+9=100
12+3+4+5—6—7+89=100




